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Light from a point source in air falls on a
spherical convex surface (n = 1.5, radius
of curvature = 20 cm). The distance of
the light source from the glass surface is
100 cm. The location of image is

(1) +100 cm (2) +50 cm

(3) +25cm 4) -50cm

Find the distances of an object from a
convex lens if image is two times
magnified. Focal length of the lens is 10 em.
(1) Scmand 15 em

(2) Scmand 10 cm

(3) 10cmand 15 cm

(4) 10cm and 25 cm

A student measures the focal length of

a convex lens by putting an object pin

at a distance ‘u’ from the lens and

measuring the distance ‘v’ of the images

pin. The graph between ‘u’ and "V’

plottedvby the students should look like
(cm)

(1) \

v {cm)

u(cm)

(2)

u(cm)

v(cm)
(3) J

u (cm)
v
(cm)

(4)
el (cm)

The inverted i mage of a pin is formed
on a screen: docated 9.0 m from, a
spherical ml?‘or The image is 4 timeg
larger m%e pin. Determine the Object

distance. ?gdd the type of mirror uscd

(1) 4. _.,m concave (2) 2'25111 éncarc

(3) 3 60 m, convex 4) 4.5 m!._co

nvex
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(2) 9l & goa
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(1) >
(3) 2f
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(1) 24 ¢cm (2) 48 cm
(3) 72cm (4) 96 cm

?
i
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A converging lens of focal length
5.0 ecm is placed in contact with a
diverging lens of focal length 10 cm.
The combined systent act as a

(1) converging lens of focal length 10

cm

(2) converging lens of focal length 20
cm

(3) diverging lens of focal length 3
cm

(4) diverging lens of focal length 20
cm

A transparent substance is behaving as
convex lens in air and as concave lens
in water, then its refractive index is

(1) less than air

(2) equal to water

(3) greater than air but less than water
(4) greater than water

A convex lens has a focal length f. It is
cut into two parts along the dotted line
as shown in the figure. The focal

length of each part will be
|

f
(1) 5
(3) 2f

@) f
(4) 4f

The radii of curvature of a biconvex
lens are 20 ¢cm and 30 cm respectively.
The material of the lens has a
refractive index 1.5. Find the focal
length of lens when it is placed in
water. (i, = 4/3)
(1) 24 cm

(3) 72cm

(2) 48cm
(4) 96 cm



10.

TIETT YeHeE 6l A g Jafe
TEHA] 2 (Hehdl & Tdierd 319 2)

D
7 @ 147
3 l‘+l 4) 1+ Df
(—‘} [) ( ] Y
TS qUEdh glaui H

(1) a2 gleh 1 U 39 oid ATH5H
1 T8 IYFNT A B |

(2) B FRH &I TH IaA o
Hfigvaes 1 T8 T A 8 |

(3) 9 ERF H UH HEgAA o
Ffirgyae &1 a8 ITEM oid & |
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(1) 18cm,2cm

(2) 15cm, Scem

(3) 11em,3cm

(4) 10em, 10 em

11.

12,

Magnifying power of a simple

microscope, when final image is
formed at least distance of distinct
vision is

(Symbols have their usual meanings.)

D D
) F () 1+
3) 4) 1+Df
G) ptl (4)

In a reflecting telescope

(1) a convex lens with large aperture
is used as objective.

(2) a convex lens with small aperture
is used as objective.

(3) a concave lens with large aperture

is used as objective.
(4) a concave mirror is used as
objective.

Monochromatic source is used in

Young's double slit experiment. The

shape of the interference fringes
pattern formed on a screen is

(1) Curvedline (2) Circle

(3) Hyperbola (4) Ellipse

The magnifying power of a telescope
is 9. When it is adjusted for 'pau‘allel
rays., the distance the
objective and eyepiece is 20 ¢m. The
focal length of lenses are

(1) 18 cm, 2 cm

(2) 15¢cm,5cm

(3) 11 cm, 3 ¢

between

4) 10em, 10 em
oD
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fopeft =afaspor i & 700 nm atmeed
¥ o A W S e W A
T vt am B 2 | B fag W
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(1) 420 nm (2) 490 nm
(3) 600 nm (4) 660 nm
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16.

In an interference experiment third
bright fringe is obtained at a point on
the screen with a light of wavelength
700 nm. The wavelength of the light

source that should be used in order to
obtain 5" bright fringe at the same
point is

(1) 420 nm
(3) 600 nm

(2) 490 nm
(4) 660 nm

Young’'s double slit experiment is
performed in air the fringe width is
found as B. If it is performed in water
with the same setup, the fringe width

(1) will remain same.
(2) will be greater than 3.
(3) will be less than f3.

(4) will become infinite.

Red light of wavelength 625 nm is
incident normally on an optical
diffraction grating with 2 x 10° lines
per metre, including central principal
maxima how many maxima may be
observed on a screen which is far from
the grating ?

(1 8 (2) 15

(3) 16 4) 17

In Young’s double slit experiment the
distance between two slits is ‘d” and
interference pattern by these slits is
observed on a screen distant D from
the slits. First dark fringe is produced
at point P just in front of a slit. The
wavelength of light used is

D 5 &
D e
3) 3 4 p
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(1) a sin0 =%

mi":‘,

5

(2) asin®=
(3) asinb= 20

@) asin@=3

18 500 nm e Uk el RIS
@%ﬁﬁﬁaﬁﬁé‘m%lﬁaﬁ?qﬁﬁq
3 g 3feE ¥ 5 mm gl W T
s o B 2 | A e qu ae
el 1 m 2, A feere 1 <frerd &
(1) 0.1 mm
(2) 0.3 mm
(3) 0.5mm

4) 0.8 mm

| 19. m%ﬁaﬁﬁﬁwﬁﬁmwﬁa%
AR § W T b e &
STAT A1 =1fET
(1) 100 @ 31fr

(2) ST 1073

. (3) 1 § 10w H
(4) 1043 i

Condition for the first secondary
maxima in the Fraunhoffer diffraction
pattern at a single slit of width a is
given by

(1) asin®=~x

. . 3n
(2) asinb6=75
(3) asin0= 2h
3
(4) asin0=3A

A monochromatic beam of light of
wavelength 500 nm is diffracted by a
slit. The fifth minima is obtained at a
distance of 5 mm from the central
maxima in diffraction pattern. If the
distance between the screen and the

slit is 1 m, the slit width will be
(1) 0.1 mm
(2) 0.3 mm
(3) 0.5mm

(4) 0.8 mm

To observe diffraction of light, the

ratio of size of obstacle to the

wavelength of light used must be

(1) greater than 100

(2) almost 102
(3) orderoflto 10

(4) greater than | 04
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A parallel beam of light is incident on
a convex lens of focg| length *f and
aperture of 2a. Dye (o diffraction
effect the beam gets focused to 3 spot
of radius r. Here r js proportional to

(1) ? (2) af
f 2
) 3 & ey

A particle starts SHM from the mean
position. Its amplitude is A and total
energy is E. At one instant its kinetic

-

. JE 3
energy is 1 - Its displacement from

mean position at that instan( will be

A A
(1) \7—; (2 5
3 A
(3) \@A @ 3
In a diffraction experiment,
monochromatic light is  incident

normally on a slit of width ‘a’. Fringes
are obtained on a screen at a distance

‘D’ (Fig.) Which of the following graph
can be expected to qualitatively best
fepresent the intensity of light near the
middle of the screen 9

<— Screen
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25 m m@@fﬁ(fﬁﬁﬁm
w1 g8) N q HEF A sngferat
112 Hz 921 140 Hz & | St &I qa
sTgfa 2

(1) 14Hz (2)
(3) 42Hz (4)

28 Hz
56 Hz

S| 200 Hz 31gfd &1 =ia v 373
3gf & w@fE % a1y eaft w2 |
5 faere wfq deve Iem 2 & | afe
200 Hz 319 & @i W %2 5W w@d
2 dl 8 farr ufd Tehve 3= 214 € |

F3d IR % @i 6 agha arfi
(1) 195Hz (2) 200 Hz
(3) 205 Hz (4) 208 Hz

A gotg FA H 20 FUT 10e Href
IeIg1 & SATE FAM: 5.82 mm 99T 3.36
|11111W3ﬁ%3ﬁﬂﬂﬂ?ﬁ?[ﬂa&mfﬁ
EEIB 111%ﬁwmqﬂﬁﬁaiﬁ%
(1) 5900 A (2) 5846 A
(3) 5646 A (4) 5042 A

S WIghawd SAfasomTdt fraH 589
nm mﬂwmwﬁﬂﬁ@%,ﬁ
U Al H FE I gdelt 9fgH (n = 1.5)

wgd 2 dl za 10 53 fereenfia g 2
e i HierE 2
(1) 295 pum (2) 5.89 um

(3) 11.78 um (4) 23.56 um

Y, =asin (ot — kx) T Y, = a cos (ot
~ kx) ® W@ &1 a0 reamifud Bidi
2 | afCorT qUT <R 3 A

(1) 2a (2) a

(3) 2a 4) 7=

23.

24.

26.

27,

A string (fixed at both ends) with a
length 2.5 m has two adjacent
resonance at frequencies 112 Hz and
140 Hz. The fundamental frequency of
the string is

(1) 14Hz (2)
(3) 42 Hz (4)

28 Hz
56 Hz

When a tuning fork of frequency
200 Hz is sounded with a fork of an
unknown frequency, 5 beats per
second are produced. If some wax is
put on tuning fork of frequency
200 Hz, the number of beats increases
to 8 The frequency of fork of
unknown frequency must be

(1) 195 Hz (2) 200 Hz

(3) 205 Hz (4) 208 Hz

In a Newton’s ring experiment, the
diameters of 20" and 10" dark rings
were found 5.82 mm and 3.36 mm
respectively. If the radius of the plane
convex lens is 1 m, the wavelength of
light used is

(1) 5900 A (2) 5846 A
(3) 5646 A (4) 5042 A
When a thin glass plate (n = 1.5) is

introduced in one of the arms of
Michelson interferometer using light
of wavelength 589 nm, there is a shift
of 10 fringes. The thickness of plate is
(1) 295 pum (2) 5.89 um

(3) 11.78 um (4) 23.56 um

Two waves represented by
Y, =asin (ot—kx)and Y, =acos (ot —kx)
are superposed. The amplitude of
resultant wave will be

(1) 2a (2) a
(3) \[2a

(4) zero
oD

R)

oD
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e Tehol |id % 31 U JATBR Thdl | 28.

Td) 2 | 20 Fehdl I $9H | m gl W AR

TEA A A Hieaa T A 2 UE
g 1 9T 2l 2 | Fehdl H 25 em &l
w fioyq fag w digan & (afe 313
e wfearal & FATA ATEH F
3914 0.9 &)

(1y 0531 (2) 00551
(4) 00721,

o

(3) 0.0811,

Uk E%J.ESH FHTEHE 5.00m 7 | 600 nm 29.

SRTS 1 ITAN F T faved B HHG mam
(1) 0.6 x 107 rad
(2) 1.46 x 1077 rad 3
(3) 246> 107" rad
(4) 2.8 x 10~/ rad

afz N BT @ el TEisit H Hen @ 30,

270l A

g LN
() n (2) N
< N y i
(2) n () N

e 31 g wfcana i =
\di a1d % FHEAT 2, 7 n 313 A

iz & gET 2 | 981 v 2

!
M -3 (2) I

(4) 1

|~.)Il—

3.

A circular disc is placed i front of a
narrow source. At a distance of 1 m
from the disc it covers first HP/Z and
intensity is found as I . The intensity
at a point situated at 25 cm from the
disc will be (If ratio of consecutive

amplitude of HPZ 15 0.9)

(1) 0531

0

(2) 0.0531,

(3) 0.0811 (4) 0.0721

A telescope has a diameter 5.00 m.
The limiting angle of resolution for

600 nm light will be

(1) 0.6 <107 rad
(2) 1.46 < 107 rad
(3) 246~ 10 " rad

(4) 2.8 x 107 rad

[I'N is the total number of lines on the
arating and n is the' order of the
spectrum, then

resolving’ power of

arating 1s

N Ay
(1) nl (2) N
o N o E
(3) n (<) N

the radii of Fresnel's halt period
zones are proportional to x" power of
n. where n is number of half period

zone. Here x is

I i
(B =3 (2) Zero
]
(3} +35 (4) 1
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34,

The de-Broglie wavelength of an atom

associated with a gas at absolute
temperature T will be
h h
(1) : (2) -
mkl V3 mki
() 2 ) s
~mkT V3 mkl
A photon and an electron have equal
}L
energy E. e 2. L proportional to
electron
-
(i Ei# (2) E°
3
(3) E? 4) E?

The log-log graph between the energy
E of an electron and its de-Broglie

wavelength A will be

o2 <
(ny 2 @ 2
log E log
. =
3 2 @) &
log E log E
With reference to block body

radiation, wavelength corresponding to
the peak of the curve is proportional to
n™ power of its absolute temperature
T. Here n is

(1) 2
(3) -1

(2) 1
!
@ -3
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l fira smgfal &1 wem s weE

F1 AT FHI: 1 eVaAA 2.5eVE, 0.5

eV &P %o ) 9T W HAFE Iafad
#17TE 2 | IiAd sergil $ sifusman

s Sl 1 FUTE &

Ly Ll (2) I 42

(3) 1:4 4) 1:8

e U 91 W {3 b fafetr smafaa
2Id 3 d1 91q "dg 8 Icafid goiaeid &I
Sfehan o v 811 2 | 3RS 4f 89 W@
SAEZH 1 SAferhaq A g

(v (2) <2v

3) =2» 4) >2v

Afyeran gfaera gftads 2m
(1) 0.48% (2) 4.8%
(3) 5.2% (4) 9.6%

We Ushoiduil YehTel % U fawg |Iq i
mﬁgﬁﬁaﬁo.zmz@q‘(r@%ﬁ
dl 3TAHE dleed (cut-off voltage) T
HYH 9T A 0.6 VAUT 18 mA WH
el 2 | Afe e i bl wehr fee@ de
H0.6m qﬁa%ﬁmméﬁ%a‘lﬁﬂa‘}
(1) 0.2V.18mA
(2) 0.2V,6mA
(3) 0.6V,9mA
(4) 0.6V,2mA

ERE

Light of two different frequencies
whose photons have energies 1 eV and
25 eV

illuminates a metal of work function

respectively, successively
0.5 eV. The ratio of maximum kinetic
energy of the emitted electrons will be
(1) 1:1 ()
(3) 14 (4)

1:2

1:8

The maximum velocity of electron
emitted from a metal surface is v when
frequency of radiation falling on it is f.
The maximum velocity of electron
when frequency becomes 4f will be

(1) v

(3) =2v

(2) <2v

(4) >2v

The maximum percentage change in
wavelength due to Compton scattering

for incident photons of wavelength 1A

will be

(1) 0.48% (2) 4.8%

3) 5.2% (4) 9.6%

When a point source of

monochromatic light is at a distance of
0.2 m from a photoelectric cell. the,
cutoff’ voltage and saturation current
are 0.6 V and 18 mA, respectively. If

the same source is moved to 0.6 m
from photoelectric cell, then stopping
potential and  saturation current,
respectively will be

(1) 0.2V, 18mA

(2) 0.2V,6mA

(3) 0.6 V,9mA

(4) 0.6 V.2mA
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(1y 1 MeV (2) 10 MeV
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(3) 4850 K (4) 6850K

U% HAAA ¢dul i famEn (37R) a x b
2 | 3 BIR gl 3

(1) 7= @ %

.. ab

(3 5 (4) oo (3FT)

e ety gdu & wfdfer fwio &

gEg i i s m s EEe ? g

(1) & fars gl wiwd gt @ Fn ad 2 ©
1 sifferes et &1 2 |

(2) v foea gft wrend gft & Ffuss B
2 1 wfafars sredafHe g 2 |

(3) W& fara gFal =2 T Eal @ dl
yfafas s wWaAaT 2 |

(4) wa for 20 wiwa g A % B 2
at yfefera Ieer a7ar 2 |

U A 5 x 1015 m Br=nm &
qifues 1 ag 2 | feasnia & Hom o
st s Teder anft

(h=1.054 x 1073% Is)

(1) 0.527 x 10720 kg —m/s

(2) 0.527 x 1078 kg —m/s

(3) 1.054 x 1020 kg —m/s

(4) 2.054 < 107" kg —m/s
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Assume free electrons exists in the
nucleus. then it must have a minimum
energy of the order of

(1) 1 MeV (2)
(3) 100 MeV (4)

10 MeV
1000 MeV

The temperature of a tungsten filament
bulb is approximately

(1) 1850K (2) 2850K

(3) 4850K (4) 6850 K

The dimension of plane mirror is a x b.
Its focal length is

(1) zero 2) %

(4) = (infinite)

.. a
(3) 3

Which one of the following statements
concerning the image formed by
concave spherical mirror is true ?
(1) When the object distance is less
than the focal length, the image is
virtual.

When the object distance is larger
than the focal length, the image is
virtual.

When the object is at the center of
curvature, the image is formed at &
infinity. -
When the object distance is Ie
than the focal length, the image
inverted.

A nucleon is confined to a nucleus ok

radius 5 X 10715 m. The cstimatcd:‘
uncertainty in  the momentum :
nucleon will be (h = 1.054 x ="
(1) 0.527 X 10726 kg-m/s
(2) 0.527 x 1078 kg-m/s
(3) 1.054 x 10720 kg-m/s

(4) 2.054 1071 kg-m/s

Is
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(1) S99 T 6 wrft a9 ofy &
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(3) Arfas Tt W v St wa |
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Focal length of a convex lens will be
maximum for

(1) Blue light
(2) Yellow light
(3) Green light

(4) Red light

When forces F, F, and F; are acting
on a particle of mass m it remains
stationary. If the force F5 is removed,

then the magnitude of acceleration of
the particle will be

(1) .IJ_‘__IA 2) _F_f
m m
¢ E 4 b
m m

The Bernoulli’s principle is basically

(1) The conservation of energy
applied  to  non-viscous fluid
motion in steady state.

(2) The conservation of momentum
applied to ideal fluid.

(3) The conservation of energy
applied to real fluid,

(4) The conservation of kinetic
energy applied to ideal fluid. '

The image of a small bulb fixed on a
wall of a room is 10 be obtained on the
opposite wall 4 m away by means of a
large convex lens. The maximum
possible focal length of the lens
required for this purpose will be

(1) 0.5m (2) 1.0m

(3) 1.5m (4) 2.0m
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(1) (2) 4
(3) 4) 6

led =
[P I ]

TF FH a1 F 0h wed 1§ gl
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2 | UTEIH T F9edE 2
(1) 1.33 (2)
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1.50
1.85

If¢ 3Fad i W uk gEder qom
Ffaq &A1 B q9 qwaEidd demm @i
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(1) gaad

(2) e T

(3) FuEl MeAThr

(4) U1 & ey g1 fafT st

ERE

gl gal xd y § YH ol daUTesd wmuw:
350 nm U1 700 nm 2 | "AEAHI & 39
7 % foru wif<is w2

@y 1s° (2) 30°

(3) 45° (4) 60°

21 A U U g & 60° IV W g
2 | Afas d Tt 5w sy e
TEe WUH TVl H A1 I F7E g g
| wrrafda atdt & | aiomd fomrerm 2
(1) 60° (2) 120°

(3) 180° (4) 240°
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A light bulb is placed between two
plane mirrors inclined at an angle of
60° with each other. The number of
images formed are

(1) 2
3) 5

(2) 4
(4) 6

A light wave has a frequency of
4 x 10" Hz and a wavelength of
5 x 1077 m in a medium. The refractive
index of the medium is
(I} 133 2)
(3) 1.60 (4)

1.50
1.85

If a plane wavefront is incident on a
concave mirror. then the shape of

reflecting wavefront will be
(1) plane

(2) converging spherical
(3) diverging spherical

(4) depends upon material of mirror

The wavelength of light in two liquids
x and y are 350 nm and 700 nm
respectively. The critical angle for this
pair of media is
(1) 15°
(3) 45°

(2) 30°
4) 60°

Two plane mirrors are inclined at an
angle of 60° with each other. A ray of
light travelling horizontally is reflected
first from one mirror and then the
other. The resultant deviation is

(1) 60° (2) 120°

(3) 180° (4) 240°
oD
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.

A point object is placed at a distance
of 30 ecm from a convex mirror of focal
length 30 cm. The image will form at
(1) Infinity

(2) Focus

(3) 15 cm ahead the mirror

(4) 15 cm behind the mirror

A concave mirror of focal length f (in
5.5 b : 4
air) is immersed in water (pu = 3)- The

focal length of the mirror in water will
be

(1 @) gt

4 7 .

(3) 3 4) 3

If lower half of a concave mirror is

covered with an opaque material then

the image of an object placed in front

of mirror

(1) will not formed

(2)  will formed with less intensity

(3) only half part of image will
formed

(4) only one fourth part of image will
formed

Which one of the following is not

associated with total internal reflection ?
(1) The mirage formation

(2) Optical fibre communisation

(3) The glittering of diamond

(4) Dispersion of light
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(3) 306 km/s (4) 30.6 km/s
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Some hypothetical object is receding
from earth such that the fractional
change in A is 1, then its velocity is

(1) ¢ @5 2
2

@ = @ &
| o)

With what speed should a galaxy
move with respect to us so that the
sodium line at 589 nm is observed at
589.6 nm ?

(1) 3060 km/s (2)
(3) 306 km/s

1530 km/s
(4) 30.6 km/s

In the context of Doppler effect in
light, the term ‘red shift’ signifies

(1) decrease in frequency

(2) increase in frequency

(3) increase in intensity

(4) decrease in intensity

The Camera Obscura was first recorded in
(1) 400 BC (2) 1600 AD
(3) 1800 AD (4) None of these

Baryta is used in

(1) Film Emulsion
(2) Resin coated print
(3) Fibre based print
(4) None of these

Range of visible light occurs between
(1) 300 to 800 nm
(2) 300 to 700 nm
(3) 400 to 700 nm
(4) None of these

oD
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Your print needs 8 seconds at F5.6 (in
a diffuser enlarger). You decide to use
F11, what is your new exposure ?

(1
(2)
(3)
(4)

16 seconds
24 seconds
32 seconds

None of these

Magnesium fluoride is used in

(1) film emulsion

(2) lens coating

(3) printing paper bases

(4) None of these

Daylight colour film is balanced for
light at

(1) 3200K
(3) 5500K

400 ASA film has a DIN rating of

(2) 3400 K
(4) None of these

(1)

(3) 21°

27 )

(4) None of these

Magenta is a combination of
(1) Red and blue light

(2) Red and green light

(3) Blue and green light

(4) None of these

What is a photon ?

(1) A particle of light energy
(2) A measure of light energy
(3) A stream of light energy

(4) None of these
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(1) 3961 wetor fipg—arefi 2
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Parallax error is due to

(1) Your flash mis-timing

(2) viewing and taking lenses being
separate

(3) flaws in ultra wide angle lenses

(4) None of these

Photograms  are photos  produced
without a negative.

(1) True

(2) False

(3) Both

(4) None of these

What is the angle of view on a fisheys
lens ?

(1) 180° (2) 225°

(3) 270° (4) None of these

If 400 ASA film needs 1/125 at F8,
100 ASA film will need

(1) F5.6and 1/250

(2) F4and 1/125

(3) F8and 1/125
(4) None of these

Guide number refers to

(1) The power output of a flash

(2) the sprocket number on roll film
(3) the focal length of a lens

(4) None of these

Panoramic cameras can cover an angle
of view of

(1) 180 degrees
(3) 360 degrees

(2) 270 degrees
(4) 90 degrees
oD
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A photo slave is

(1) A remote flash trigger

(2) A small tripod

(3) Someone to carry your gear

(4) None of these

True macro magnification starts at

(1) T

(2) 1:2
(3) 2:1

(4) None of these

Metol is a
(1) Developing Agent
(2) Reducing Agent
(3) Both

(4) None of these

How many pixels are in mega-pixel ?
(1) 100 (2) 1000
(3) 1000000 (4) 2000000

Sodium sulphite is commonly used as

the in developing solution.
(1) Developing Agent

(2) Preservative

(3) Alkali

(4) Restrainer
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What is size coading for film width
16 mm ?

(1) 110 (2) 135
(3) 126 4) 127

For 60 x 70 mm in roll film camera g
standard lens is about

(1) 50 mm

(2) 80-105mm
(3) 25mm

(4) 6-10mm

Angle of view for a 35 mm SLR fitted
with a standard 50 mm lens

(1) 40° (2) 45°

(3) 50° (4) 55°

The effect in which light of a flash at 4
close Proximity to the [ens axis s
reflected back from the eves of the
people is called

(1) Red Eye
(2) Ghost effect
(3) Flasy eye
(4) Glowing eye

What is pixel ?

(1) Pixel is the elements of a digital
image.

(2) Pixel is the elements of an analog
image.

(3) Pixel is the cluster of g digital
image.

(4) Pixel is the cluster of an analog
image.
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By heavily increasing the 1SO setting
of the camera the level of

will be increased in the image.

(1) Noise (2) Pixel

(3) Darkness (4) Depth

Which is the best SO setting would
you use for a very low light situating,

without using flash ?
(1) 1SO 200
(2) ISO 400
(3) ISO 600
(4) ISO 1600

To get the finest grain photograph with
least pixilation and best quality, you

select which [SO 2

(1) 1SO 200
(2) 1SO 400
(3) 1SO 600

(4) ISO 1600

A graph that represents the distribution
of pixels brightness within a digital

image is

(1) Histogram
(2) Instagram
(3) History graph

(4) Tonal graph
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Resolution indicates the amount of
details in a digital photo. It is indicated

in PPI, which stands tor
(1) Pixel perinch
(2) Pixel per indicator
(3) Pins per inch

(4) Print perinch

iIs not a contrast filter for

Black and White photography.
(1) Blue (2) Red

(3) Yellow (4) Orange

Which is/are defect(s) of lens ?
(1) Spherical aberration

(2) Coma

(3) Curvature of field

(4) All of these

~lormat is called Digital Negative.

(1) .jpg (2) .png

What three colours are processed by

film camera in order to produce an

timage ?

(1) Black, White and Red
(2) Blue, Green and Red
(3) Red. Green and Blue

(4) Cyan. Magenta and Yellow
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Cold cathode illumination 1s mostly
used in

(1) 4 x5 enlargers

(2) 6 x 7 cnlargers

(3)
(4) None of these

8 ~ 10 enlargers

Red colour under green light would
appear

(2) Blue

(4) Yellow

(1) Green

(3) Black

What is a “dolly™ ?
(1) A heavy tripod
(2) A remote {lash
(3) A Camera casc

(4) None ol these

When was the first ever colour
photograph taken ?

(1) 1861 (2) 188l

(3) 1901 (4) None of these

‘Photography’ comes from the Greek
PHOTOS GRAPHOS.
What does it mean ?

words and

(1) Light graphics
(2) Light writing
(3) Light drawing -

(4) None of these

Red’s complimentary colour 1S
(1)
(2) Magenta

(3) Yellow

(4) None of these

Cyan
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